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1. Identify the leader who uttered the following statement:
“I am not anti-English, I am not anti-British, I am not anti-any government, but I
am anti-untruth, anti-humbug and anti-injustice...... so long as the government
spells injustice, it may regard me as its enemy, implacable enemy.....".
A. Gopala Krishna Gokhale B. Bala Gangadhara Tilak
C. M.K. Gandhi D. Jawaharlal Nehru
Bsambenp OFfalss Cahdluwg HemeveuT wimr?
e BT DYRIBHVHHIHE 6ISHTTHIUT DI6V6V, BT DHISHECEWITHEHDHE)
THTTEIEUST D6V, BT 61hSH DFFTRISHHBSD GISHTTETEUET DIGV6V, DLEIT6V [HT6HT
2 _WIemDSHSLI LBLbUTeeuBBIiG edimeareue: GCrgnse eIdlgTaeue: DbHHEES
TFHITEIEUS: DTS 6IHIEUM] DIBFH TS BLbFH 6H6THBEHT DIeuTH6N  6TaiTeN6
LSBoUTTS SH(HEHIUT, FOTHTALLGSHS (PIQUITSH LIHSAIRITS ShHSHIAUT. .. ... ”
A. Gxmumey &@lmagent BaraBGsn B. umevsmisTay &HevsiT

C. Cuasaigiead &Jbdbhd BhHH D. maiamiteomsd Gm(h

2. Which national leader uttered the following statement?
“I am an Indian Tom Tom waking up all the sleepers so that they wake and work
for their motherland”.
A. B.G. Thilak B. Gopala Krishana Gokhale
C. Annie Beasant D. Jawaharlal Nehru
Ueteupd sapens olalshs Chdws HemeveuT wimr?
“BTeT @b DbHHWer, SLLULML DgHdH 2 BhiGUaTHmen alPihosy CFuig,
STUIBTL B@& UeniwmBmiorml el jeworreusiiGuesr”.
A, UTEUBRIBTHT VBT B. Gamumen dmagent GoraBev
C. seelQuaes D. maianiteomsd Gm(h

3. Who became the Chief Minister of Madras Presidency in 1923 after Justice party
won the elections?
A. Ramarayeningar B. K.V. Reddy

C. T.N. Sivagnanam Pillai D. A.V. Patro

1923 o0 uewih L UCOUBB Ggeiemer wrsTe CaTHedled BHHal & GeunneumBs
IB@ W’ QFeiienent LOTSTaIHH6 (PpFHev WhHMwres QurptiGuBpTT?

A. pmoyTweBIbT B. Gaz.al. Qplip

C. .er601. Fouepmend LieTener D. g.al. urgGym

4. Who made the statement: “Worship of God through the services of the poor”?
A. Mahatma Gandhi B. Mother Therasa




C. Swami Vivekananda D. Ramakrishna Paramahamsa

“ DB EHHE OHTEIBHET CFUIAIL HLEDAIET AIETHIGHMBBE FIOD” 6B FnpluieuT
wiir?

A. aTHIOT HHF) B. sjeiemenr Qg yam

C. saumd alGeusTabsT D. gmodmagent UFLOaBLDST

. Point out the wrong statement in the following;:

Statement:

l. The place which experiences the seismic event first is called epicentre

. Tornadoes are “S” shaped storms

Ill.  Harmattan wind is blowing in the Eastern part of Sahara desert

IV.  The word igneous has been derived from a Latin word.

A1 B. IV

C.1I D.1

SHEWIL. H(HHBHIH6M60 HAUBTAINSH Fllgdh HTERILNSHBH6LD

B(HHSDIHGEIT:

l. WHS(WPHeded Lal oigTey giubld SLdHmsd el DHTEFS enouwid eler
SIMWPESILGS B

Il. GLrenBLm Lwed “@h” eugeubSIHIL 6T E)(haESHLD

II. ABTTOL L 65T STBHmI Fastymaier Spds@l UuGHuled eissdamsal.

IV. @salwed etaip eunfiensuwimeng Sevshder Gomduled b GUBLILILL G

Al B. IV

c.nI D.1

. Which of the following is correctly matched?

I. Meteors - Shooting star

II. Comets - Revolve round the earth

III. Halley’s Comet . Appear once in 100 years

IV. Milky Way - Hundreds of stars

A 1

B. II

C. I

D. IV

BB uBmIeT o1& Fflwmes QUITHBHSILIL Beiteng?

l. erflamamel - ofl BL FHHTID

Il. eured B FHHTID - yleww &Ml euhESmal

I, Gamselerd eumed HLUFHHTD - 100 umHAILSHIHBS @H(peds CHTermid
V. umeveulfl 1D6%IL 601D - BIBBISHENIHEHTEN [BLF & TRIS6NT
Al

B. 1I

C. III

D. IV

7. Which of the following statement is correct?

l. When blood glucose level deceases, the hormone glucagon signals the live
to produce and release more glucose and to stop consuming it for its own
needs




10.

. When blood glucose level decreases, the hormone glucagons signals the
liver to produce and release more glucose and to increase consuming it for
its own needs

[Il.  When blood glucose level is high, insulin signals liver to synthesize and
storage of glycogen and triacyl glycerol

IV.  When blood glucose level is high, insulin signals live to stop the synthesis
and storage of glycogen and tricayl glycerol

A. Tand III

B. ITand IV

C. I and III

D. Hand IV

S OHTLTH6eMe0 618 grflwmenrg?

l. OI5s GHEHHCHTED Sleey GHMBWLBUTSHI, GHEHSITaET BUSSHT, DISHD
Slenalled GepdCaramen HwWTlHe alhals@ld LY H6060Tmed SITewI[HEGIBSI.
Guoaub Heargh CoHrameaudsTd GeEhECaHTmFL LWSILIGSHIHIUMBULD HBHHH GBS

Il. A5 GEHHCHTEL DleNey GHMBUDECLITHI, GHEDBHTH BUISHSGHT, DIHD
Slenalled GepsCarmen swTlHga alhals@ld Ly SH606Jmevd SHTHIBE GBI
Guoaub oIFHs Slenalled GEndHCHTmMF Heil CHeMeubHTHLI LIWLIGTLHSHSHIS GBS

II. A5 GEpHCHTL Sleey HIFHBNHGHD CuTxh Eesels SIFHS Slenalsed
SemenCaTller BEID 19m] Dmaed Hlelggrenend swliss CaldbELbuly
H606UTEN60S HIWIL S BB

V. OrH5 GHEnHCaTaL o] DFHFMEG0D Curg @eigieder, slenenGaTbiege
LBBLD 1960] DIHFeL HalFImTe0 2 BuSHSH BmId Cailliemu HBISHIOLIG
&H6060TN6VSH HITeNI(HS BB

A. | wBmpip 1

B. | wmpw IV

C. Il wppw HI

D. Il wpmgw 1V

In 2007, the percapita consumption of energy in India was Kilogram of
oil equivalent.
A. 529 B. 592

C. 295 D. 925

2007 opb spewih AbFHwnaled HelpuT eflgshd) msTalear Siene == HEeoTdlFmbd
oTewtemennl LIZ6SL (héb@ &FLoLb.

A.529 B. 592

C.295 D. 925

The oxidation number of Mn in KoMnQy is

A +2 B. +4

C.+6 D.0

KoMnOy4 —s0 Mn-eit g dbdlero@emm  ereust

A +2 B. +4

C.+6 D.0

Which of the following oxides of nitrogen is coloured?
A. N0 B. N2Os

C.NO D. NO:

SIPHEWIL. BTN HMmFBHDB6T60 61&H HIB(LpenL Wig)?
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12.

13.

14.

A.NO B. N2Os

C.NO D. NO2

Colemanite is an important mineral of

A. Boron B. Aluminium

C. Gallium D. Indium

Bamevloement LleiTeu(hld T 2 GeoTeHGHH T (LPSHSIWILDTET  HEILOLDTGHLD
A. Gurmymest B. 9suideiuwib

C. @Gxedwid D. ®enguib

Consider the following statements and select the correct answer

l. The path of a projectile is a parabola

1. The acceleration due to gravity at the centre of the earth is zero
IIl.  The gravitational constant does not have unit and dimensions
A. Both I and II are correct but III is false

B. Both I and III are correct but II is false

C. I, II, III all are correct

D. Both Il and III are correct but I is false

SPHWIL. FnBBIBmeT HhHHHe0 Camenih sfwmer almLamwd CaTbosM:
l. aflOUT(HET PNIBT LTS — LITOUMETR| L(ELD.

Il. yelulesr emwowibded UaIFTOY (WpHSSHH 6T WA Leaeduid L&D
II. FTOLWeD Lomsleld@ Slev@ LOBMILD LIfOTenmiseT &lenL Wimg

A. | opp Il sflwumeremen opemed T Heup
B. | wmmd Hl sflwrerenen syemed |1 seum
C. LILI o oemensgip gfluimeremne

D. Il oppid I sflwrerensy syemmed | Heum

What is the relation between the voltage “V’ across the ends of a resistor ‘R” and

the current ‘I’ which flows through it?
I 2

AV =— B.1=VR
R

C.I:\i D.V=I°R
R

R eigmib aisen. auflBui GFedeuid WeIGemm LD ‘I’ @b SiFHa1 GnIsCs
SIMLOHGI6TET  LOSIRISHHHH BB L uleorer (V) G HTLTL eleite?

2
AV = = B.1=VR

R

C.l= D.V =1°R

\Y

R

The expansion of e-PPS is
A. Electronic Project Proposal System

B. Electronic Population Prediction System
C. Electronic Polymer Purchasing System
D. Electronic Petrol Purchasing System
e-PPS —ei1 alfleunéasid

A. & FHL (PpTeImH&He0 SienLoLiL]
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16.

17.

18.

19.

B. &g WwéHe1 OFHTend 6UHEUBINTHHE0 DIeHLOLIL]
C. weteignl LTEIDT QBTeTalenal ieNLDLIL]
D. wetengm QUL Gymed Gdmealensm SenLOLIL]

The first clear detection of water vapour is asteroid belt was reported by

A. Indian Space Research Organisation B. NASA

C. Russian Space Agency D. European Space Agency
GumGsme UG Hulsd Hfler el Amlumsd uBBlw GFHefeurer (Wigemeu Geueiuil L g
A. @hgwer aleOeued Suie] HmieuewTLD B. mram

C. ragw elewGeuai mHmieueid D. e@ymiunr ellewiGeuef mHmieuetid
The Vice President of India is elected by

l. The members of Lok Sabha

. The members of Rajya Sabha

Out of these

A. Neither I nor II B. I only

C. I only D. BothIand II

AhFHwrale Hlemen GHLUTHdH SHamevauen] CHTHOHBLILSI
l. DbBHeTenal 2 BT eTTaH6lT
. LOMBleVmIG6Tenel o ML ITennTas6i

Saubpiet

A. | ooz Il 1D Bedenso B. | (b

C. Il @b D. | omw Il @rewi@d
The programme Sarva Shiksha Abhiyan is aimed at

A. providing free food for the poor people

B. providing education for children

C. providing financial assistance to unemployed

D. providing free medical aid to the poor

‘giien Hdbag olwner elem FHLSHHer Chrhaomeug
gL EHHEHHEG 2 _emelefldb@Gl H LD
FBTTHEHHHTE H6val UPRIGLD FHI L LD
GouemeowBBmT(Hdb@ Mg 2 _gal auphGD S LD
JODBEHDHE BDeveudF W(HHHIA 2 Hal aIPHIGD S LD

COw>

Which one of the following is known as the world’s eternal city?
A. Athens B. Berlin

C. Cairo D. Rome

SHWILuBMle0 6% el 2 eudleT HeneulIGUBINLUI BHBTLD 6160
SIMPSHILBHBSHI?

A. gBzpeiterd B. Quiredesr

C. GauwiGym D. Gymb

The state that has literacy rate lower than the national average is
A. West Bengal B. Maharastra

C. Andhra Pradesh D. Karnataka

Gxpdlw ggmafl ssvalwpey aipdHmsd ol Gampeutear seoalwpley aimb o eiter
LOMBI60LD

A. GuoB@ eumisTeTD B. wrgmedigyr
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21.

22.

23.

24,

C. apdr MGz D. simprLasr

Arrange the given words in a meaningful sequence:

1. Honey 2. Flower 3. Bee 4. Wax

A.1342 B.2143

C.2314 D.4321

SIPHHEWIL  UTTHMHHMET, DITHH(P6iTen auflenFuied e1(pHISH

1. Gxeir 2. 4 3. euewi(h 4. Q@

A.1342 B.2143

C.23114 D.4321

30 percent of a number is 15 less than 3 /5t of that number. What is the number?

A. 48 B. 52 C.50 D. 70

Qb elewieniey 30 FHaisld SIBFH erewrenllen B0 CPSIBI OLHIMS il 15 Genmey
oTelle0 OIbFH  6T6u0T

A. 48 B. 52 C.50 D. 70

When a number is divided by 13, the remainder is 11. When the same number is
divided by 17, the remainder is 9. Then the number is

A. 339 B. 369 C. 349 D. 359

Qb elewienimaghl 13- o160 auGSaLUUBLD Curgl 168 11- | HHIBE. D6z etewt 17
S0 UGHBLIUBL Curgl 15FH 9 0H HHSHMH. DbHSH 616wt

A. 339 B. 369 C. 349 D. 359

Identify the next figure:
aflengulled DIBHS UL SHDSH SHewIBLIY.

0 > = = — 2

(1) (2) (3) (4) (5) (6)

’ e <0 4 A 4

Match the following
ListI List II
a. Deputy Chairman of the Rajya Sabha 1. Appointed by the President
b. Speaker of the Lok Sabha 2. Appointed by the Lok Sabha
c. Chairman of Public Accounts Committee 3. Elected by the Lok Sabha
d. Chief Election Commissioner 4. Elected by the Rajya Sabha
a b C d
A 4 3 2 1
B 2 3 4 1
C 3 2 1 4
D1 3 2 4




25.

26.

217.

QUTHSHHIB

Ul iguied | uliguied |
a. LDMBI6VRIBETENAIS  FHIEN6ITHIHEMEVT 1. sgem&HuSHUWITed HIUILDETLD
Cauiwiu@GaImT
b. dsenenal FLMBTUIBT 2. 1DSHSHEMEMEUUITEL [HIUILDETLD
(OEINTNNCE Yl
C. QUTH H6eWIE GHMST HENEVAUIT 3. 1DSHSHETENGUUITED
BxiO&HBHSLILIBSMT
d. eoww Fmevend BHTHED SLEDERTLIT 4. LOMHIEVBIGBETENEUULITED
B O\H B S ILIB M
a b C d
A 4 3 2 1
B 2 3 4 1
Cc 3 2 1 4
D1 3 2 4
Consider the following statements:

Assertion (A): India is a Republican Polity

Reason(R): India Shall have no hereditary ruler and the people shall elect their
Government

Now select you answer according to the coding scheme given below:

A. Both A and R are true and R is the correct explanation of A

B. Both A and R are true and R is not the correct explanation of A

C. Ais true but R is false

D. Ais false but R is true

SIPHEWIL.  OUTEBILIMIBEN6NT  H6U6IT

By (A) : GhIUT @ Gwrs Sy ol (B

sryenid (R) : @bHwT gy aufl SHeneUMLIOmIGVTLOE DHH6NT HID SFenF SHTOTHC6!
CHibg e1BLILITTSET

&Cp CaThsalUL BeTen GBluibsmen Osmemih Fflwmer alemLemw OFfley CFuis.
A. A oppib R @yemipd gfl Guoeud R eteiugy A alBsrer gflwmer alendasid

B. A uvppib R @rewipo af Goaidb R eaeiugy A alBg sflwmer alendsiosden
C. A sl gemed R seum

D. A sam semed R &

The Chairman of Sarkaria Commission was
A. Ranjit Singh Sarkaria

B. Rajiv Singh Sarkaria

C. Sivarman Sarkaria

D. Ramesh Singh Sarkaria

gramfwr Gupealer HeneveuT

A. Brehdlg dm girdsmiur

B. @ymagren A Firdamilwm

C. deugmoat gt

D. @yCway dm girdbsmilwum

Match List I with List II and select your answer using the codes given below in
the lists
List I List II




28.

29.

30.

a. Lala Lajpat Rai 1. The Philosophy of the Bomb

b. Bhagat Singh 2. Chittagong Armoury Raid
c. Surya Sen 3. Assassination of saunders
d. Bhagawaticharan Vohrs 4. Extremist Nationalist

a b c d
A2 1 4 3
B 3 4 1 2
C 2 4 1 3

D 4 3 2 1

ulwed | o Ler ulgued Il geer QUTmHSH C@THESLILLL6Ten GBuibsenend

Caremi® gflwrsll QUT(HHSHISH:

Ul iguied | Ul guied |
a. 6VTEVTELRILIGITTUL 1. QougGemih HHHIULD
b. ussdm 2. FILLBTH UIHS FLMIEG STEHGHHE0T
C. GAlwnGaer 3. gmeiLyerd GdTemnen
d. useudayent T 4. Falyours Gxhdweurd)
a b c d
A 2 1 4 3
B 3 4 1 2
C 2 4 1 3
D 4 3 2 1
Which of the following statements about Mangal Pandey are correct?

l. He refused to use the greased catridge

I He was a Sepoy in the 19th native infantry stationed at Berhampur
lIl.  He belonged to the regiment of 34 N.I at Barrackpore

IV.  He was not punished by the British

A.Tand II B. Il and IV

C. Il and III D.Iand III

Lelteu(meueieuBmIen omikeT LTewiCL @nHiss sflwmaimsd Ggfen Gaul

l. Camupliy sLalw SHLTSSHmu LWSILGSHS LOBISSSHTT

. CummRIsTbLYfed BIBISSILL GBS 19 Speug Uflewey &ibg il
II. ugsyfedmbal 34 NI uewr fleweu gnibgeuT

V. SYRIFBeoWIMTT6D  H6mTigdhBLILIL a1]606M6V

A | wsgio 1l B. Il wppp 1V
C. Il wmpup I D. | wngw I
Surdas was the disciple of
A. Madhavacharya B. Vallabacharya
C. Namadev D. Ekanth
GTHTEN0 WTHeOL U FLT
A. wrgeurgagmilwm B. eusveoLmFFmilwii
C. mmoGmeuit D. g&mrs
Consider the following pairs:

Iron ore deposits State
I. Bababudan Hills Karnataka

II. Badampahar Goa
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32.

I1I. Dalli Rajhara Orissa

IV. Kundem - Surla Chhattisgarh

Which of the pair given above is/are correct?

A. Tonly

B. Iand II

C. Hand III

D. Il and IV

LeTeu(hlD Beneiidenel H(HHHeL CHT6iT.

BBOUSSTHI LIge) 86T LOMHl6VLD

l. umuyL 6T emevselt SHITBTL&IT

Il. ungbusmT G meur

. Lmed gregspm eflgm

V. @ewiLib - &ieom FL 1e6T0&HT

CuoBEerRullL Smeanseaied 6g &7

A. T @B

B. I opmub I

C. IIwmpod I

D. Il wppw IV

Match the List I with List II answer using the codes given below:

List I List II

a. Occupancy tenants 1. Extremely weak

b. Tenants-at-will 2. Permanent and hereditary

c. Sub-Tenants 3. Temporary Tenants

d. Intermediaries 4. Absentee landlords
a b c d

A2 3 1 4

B 1 2 3 4

C 4 3 2 1

D 3 4 2 1

aflng | & auflems Il o Ler GQuTpESH Sbhaemi B QBTG (HbHSHID
QumrmgLiomer alenLenuwl GaThassiILUlL GBuilimL uwaLGHSH GBLILab

oufleng | aufleng I
a. Hlev QSISO GHSHHWBBHIIT I. 9IFBULF L6LATTLOTETEUT
b. almBiL GHHHmESHTIT 2. mpharworet wBmId eumfgfleno GumBBeuT
C. 2 LUGFH GHHHMBSHTIT 3. HBBTIH (HHHDBHMYIT
d. B ssrsisern 4. 1DemB(IPS Heollgey

a b C d
A 2 3 1 4
B 1 2 3 4
C 4 3 2 1
D 3 4 2 1
Match the surface area with their ocean.
a. Atlantic Ocean 1. 165,000,000 km?
b. Indian Ocean 2.82,000,000 km?
c. pacific Ocean 3. 73,000,000 km?

d. Arctic Ocean 4. 14,090,000 km?
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34.

a b C d
A 3 1 2 4
B 1 2 4 3
C 4 3 2 1
D 2 3 1 4
sLeVe LlueTenal ISB&Tw CuymplaenL el QUTHHHIH
a. 9| 6vTemigdh GLI(HBIBL 6D 1. 165,000,000 km?
b. @bFHuit QUHEIBL 6O 2. 82,000,000 km?
C. uflld GLIHBIBL 6O 3. 73,000,000 km?
d. eytdigs GLBRIBL 6D 4. 14,090,000 km?
a b C d
A 3 1 2 4
B 1 2 4 3
C 4 3 2 1
D 2 3 1 4
Classify the following elements as Lanthanides and Actinides

1. Samarium (Sm)
2. Uranium (U)

3. Plutonium (Pu)
4. Dysprosium (Dy)

A. Lanthanides : Samarium, Dysprosium
Actinides Uranium, Plutonium

B. Lanthanides : Samarium, Uranium
Actinides Plutonium, Dysprosium

C. Lanthanides : Dysprosium, Plutonium
Actinides : Uranium, Samarium

D. Lanthanides : Samarium, Plutonium
Actinides Uranium, Dysprosium

&C CBTHHBUILL L 6lTenn Heflomisemen GeubsHmeiB, bl Td LIflda oinsle
1. gGuwflub

2. wGyaflwi

3. yenGLmeiwid

4. 19eroGymerdwib

A. Goupsmerh F@oflwid, 19erdOLGFTerduwLD
SHmDH w,Grefwid, LemGLmeflwib

B. Gevbmpemenip  : F@oflwid, uyGrediuid
HIGMDH - LemGLmelwib, 19erdLGymerduiLd

C. Goupspmerp 196roLBymerdwin’, 1LepGL mefluib
SBIMDH wGrefluid, F@fluib

D. Geupmpwen® FQuoflund, LemnGLmTeiwib
SLBIMDH wGrefiuitd, 19eroLEymerduIb

Consider the following statements and select the correct answer:

Assertion (A): Sclerencyma cells provide mechanical support to the plants.
Reason (R): Sclerenchyma cells have thin cell walls

A. Both A and R are individually true and R is the correct explanation of A
B. Both A and R are individually true but R is not a correct explanation of A
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36.

37.

C. Aistrue but R is false

D. A s false but R is true

SDHHTEID UTHBWHIGBMeT HHHFHeo Gamenih gfwmer almLamwd CHThosHMH:
amml (A): e ISIBIOT CFe0B6T BHTOIHIBEHHESG 2 BIHH HeTeniouenet
SleflsaSImer.

aryewid (R): er0dlenyeasiensdsion OF60sb6T GLDaSTenOWITET OF60diaUTEmeNL  CLUmBMIeTeTeT
A. A oppib R remipid M Guweutd R eteiug A alig gflwmer ailendasid

B. A opmib R @yewiGo afl Guoeidb R eteiugy A alB@ sflwner allendsiosos0
C. A gfl gemed R seum

D. A saum semmev R &l

The nitrogenous bases found both in DNA and RNA

[ - adenine and Uracil

I - Thymine and Guanine

III - Uracil and Thyine

IV - Adenine, Guanine and Cytosine

Al B. 11 C. I D.IV
19.e1651.5 (DNA) wpmid syfr.ereing (RNA) ol Byewngenid amewil LB em
B Grredeierd STIHIGBETTEU6T

| - oygemerer wBBID wgTdled

Il - owaier WLBEBID GeuTeneatet

I - uprdled wBE@ID L6

IV - seneer, @Geurenenet WBBID ewaLl GLmaler

Al B. 1 C. D. IV

Which one of the following is not correctly matched?
Dances States

A. Bhangra Punjab

B. Kuchipudi Andhra Pradesh

C. Yakshagana Gujarat

D. Odissi Odisha

SLPHEWIL UBMIT HoUBTH CLITHHSLILL (HeTendl 61517
[bL_GOITRIGBGIT LOMB]60MRISH 61T

A. unrigm Li@hamLl

B. @&Faliug JETY: )l () (€525 %:40)

C. wHagsmeibd GH2ITH

D. guerbend @196

UN flag is designed with the leaves of which of the following tree?

A. Olive

B. Willo

C. Apple

D. Pine

m.pT Foouuwler Gamgouied @ bEUMBMIETeN @enevd6a M6 LILMIS6T 6lhS LOJHMSD
GaibmHemeu?

SL6Ul61

ailevGsur

S NeiT

G0LIGHT

CoOw>
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40.

41.

42.

India’s first centre to monitor climate change was opened recently at

A. New Delhi B. Chennai

C. Jaipur D. Bengalure

S LGILIL Hlew6e0 LOTHBSHMS HeWIBTENHESGHID (IPHe0 MWD FLiLGHH L BbdHwiTaled
SIbissiul L G b

A. ys Hebed B. Qssitener

C. Gguiyr D. Qumisenm
How many straight lines are there is the figure below?
A.10 B. 12 C.16 D.8
SPHTEID LILHHev o eitenn ChHTCHT(Hs6 M6  616u0T6mIHMH
A.10 B.12 C.16 D.8

The circle - graph given here shows the spending of a country on various sports
during a particular year. Study the graph and answer the question.

Basket Ball

What percent of the total spendings is spent on Tennis?

A.12% % B.22v% % C.25% D. 45%
CaThHSaUIULL UL eUMTUL DTS @(h BT GMILILL LewgB@&eT LebGsup)
allewemuT yBaTen CFevalabmdbd ST BB, SDEHBMIL UMTLUL HMSLI LITTHSDI
Cxeitallsdg uLFHed GsThH

A 12% % B.22%2 % C. 25% D. 45%

The least number which when increased by 1 divisible by 12, 18, 24, 32 is
A. 278 B. 288 C. 287 D. 279

Qb 6IETEMIL 6T QETemBeS dnl L il 128 188 248 32-9160 5N aGUBSBSH.
SIGHHMBW OFFW  6T6w1

A.278 B. 288 C. 287 D. 279

The missing term in the series.




43.

44,

45,

46.

9,225,16,196,25,169 _? ,144

A.81 B.121

C.36 D. 48

9,225,16,196,25,169 _ ? 144 ez Qamfled alBul L eTewm
A.81 B.121

C.36 D. 48

Find x in 4" x 64 =16**°

Al B.5

C.4 D.2

4 x 647 =16""° aiafled, X-@ei1 ALY

Al B.5

C.4 D.2

At simple interest Rs. 1,000 becomes Rs. 1150 in 3 years. If the interest rate is

increased by 3% than the total amount is

A. 1,400 B. 1,300 C. 1,140 D. 1,240

o GPUILL seafleully aigndhdled 3 emibseisd ¢h. 1,000 Sieig . 1,150 u8mg
3% ambsoons ey aisd @ULe, $BCUTMSW GLoTeHs &L

A. 1,400 B. 1,300 C.1,140 D. 1,240

Which of the following statements about Lok Pal is/are wrong?

i Lok pal wil have the power to investigate an Administrative Act done by
a Minister or Secretary

ii. Lok Pal can inquire into complaint of maladministration

iii.  Action taken in a matter affecting the dealing with Government of India
and any foreign government

iv. Grant of honours and awards

A iv B. ii, iii C.i,ii D. iii, iv

GeordLITed @NHS BHHSHIH6MeL LieiTeu(heuameuBBIen Heuprerenel 61l .cTeneu?

i. Q@ WhHHM Slevevg QFwevoremfler MiTeurs GFwemey algmyener OFuIul
GoomrdLITeNIHE DIHBTID 2 _6wiH

ii. pitgnas MBasB g OBTHoHSILL [BHeTen LsbTeny Geomdsumed allgmldsaemd

iii. BhFHW SIFTRISD BBID CeuefBT.(h HIFFTRISHIHIL T GFBLGBLD
RUILUBSHIBMNS GSBISHSH algmileaeomd

iv. wflwreng wBEID alHHIHeT DeMlILIg)

A.i iv

C.i, il

D. iii, iv

Consider the following statements and select the correct answer using the code.

l. IGOANTPS covers only BPL population and persons above 65 years and
provides Rs. 200 month

. In India, avoidance of poverty is reached when a person has access to 2100
calories per person per day in urban area and 2200 calories in rural areas.

Codes :

A. Tonly
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48.

B. Il only

C. Iand II

D. Neither I nor II

SIDHWIL.  QUTHH RIS HausHgH SeuBpler Fflwmer alenLulener @Gpsluil GILesr

Camenih OHMHOSHBHHBALD

l. IGOANPS OamLiyenLwig BPL &l Qgraamuied 65 euwisHTereuTsendsd ob.
200 I CBTHSHSILGUSTEGLD

. @hFwraied aupieno Sy eSUL 6bhH @b Wealzmer 2100 &Gumflss e
BTLBEHEG BEHTUBSHVID BB 2200 &Gevmflae SHmoliLg&Halevid

61 (HeUBHTGLD
G GlL_eor:
A. | @b
B. Il wl@w
C. | wspw Il

D. | soevg Il b Bsvemev

Consider the following two statements consisting of Assertion (A)and Reason (R)

and select your answer using the codes given below:

Assertion (A):  Rise of militant movements of Indian National movement
revealed to the British, Government, the extent to which the
Indians were humiliated and dissatisfied.

Reason (R): India youth were involved in large numbers in militant
movements and left their foot prints as Heros.

A. Both A and R are true and R is correct explanation to A

B. Both A and R are false

C. A and R are individually true but R is not the correct explanation to A

D. A s false and R is true

Ueteupd Bheursdwimiseilsd CamBohasiiul Beten gmmml (A) strewid (R)

LI WemeUBmeNd HHHHe0 CdTenih SH6 OQBTHHSILL (HeiTen BTSN (HHS

o mFel alemLemwd 0Ffle GFuis

apm (A): ObhgHw alBsmevts GummlLgaled FHaly Cxhdlweurglseiear erw&Fd,

SBSCoow o F @hHFHwiTsmen 6bhd DeMalBE SmLILGSHS BOLISmS SpHEHF

CFLIHHHSHH 61ILMNSH 2 _6ulTHIHUISI.

sryewid (R): OhIHU BemeehTHeT DIHB Slenaled Haly CaHdlweurdsel

BUISEBSHH0 BenemiheHl BHTULSTHENTS HhIS6NH Henaia|bamen all BF ClgeaimieTemeT.

A. A oBpib R 8resipBu gflwnerensy (R)-(A) ailer sflwner allendasion@ld

B. A uBpib R @rewiGCo seupreienel

C. A vpib R salssaiuns sflwunaemer spemeo (R) — (A) afler gflwmen

a1l6m& 8106060
D. A sap R &

Consider the following pairs

I. Swami Vivekananda - Parliament of Religious Chicago 1893
II. M.S. Subbulakshmi - Patronized art and architecture

III. Mother Teresa - Central Hindu School, Banaras

IV. Raja Ravivarma - Classical paintings

Which of the pair given above is/are correct?

A.Tonly b. II only

C. IIT only C. 1V only

LNeieU(BD BenenIHemeN H([hHHe0 CBTeTH.
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50.

51.

52.

l. soumd elGeusmebaT - 18939110 ewi(h FHaET@HTalenr Flouwl LITITEHLOGTBLD
I, erb.etord. &lievl &l - HemeL LOBMID HL gL SH&HEN6V

. seemen OFHyam - HHW RbSILILI6NT6N, LTI erd
IV. gregm gelleufiom - LIDEDWWITET @elUIBIS6IT
GuB@Iiil L Bmeansefled e1g &ifl?
A. | bl B. Il w’ @b
C. Il w @ D. IV wl G
Which is not the work of Ottakkuttat?
A. Senkuntarmalai B. Saraswathi Anthathi
C. Yapparum Kalam D. Arumbai Tollyiram
6b& [TV QUL SImSHSHT e1(HWH DI6060?
A. QFRIGHST LOTm6D B. gyeveud) obsrs)
C. wrlumhiseold D. oimwenus Gameitenmuiyd
Who was the founder of the Kisan Mazdoor Praja Party?
A. Achariya Menon B. ].B. Kriplani Menon
C. Achariya J.B. Kriplani D. Jai Prakash Naryanan
gemest WedGIT Lgeaemr sl dfeowsd CHmBmialshgeuT wimr?
A. aFamitum Goeest B. J.B. &puened Gioedrest
C. aygammun J.B. &puenef D. Gmuiligsrad mrymulewTeir
Match the following pollutants.
a. Gaseous Pollutant 1. Anthrax
b. Metal Pollutant 2. Chlorine
c. Deposited matter pollutant 3. Cadmium
d. Bio pollutant 4. Tar
a b ¢ d
A 2 3 4 1
B 1 2 3 4
C 4 3 2 1
D 3 1 2 4
SPHTEID LOTHLUBHH BT OLIT(HHHIS.
a. &Myl I&HUBGSHSH 1. SUbBHITH6r0
b. 2 Gevras WTHLUGHSHS 2. @Benmler
C. UQUImeUSHBLILILL  LOTEHLIBSHS 3. smlfwib
d. o uir wrEUGSS 4. i
a b C d
A 2 3 4 1
B 1 2 3 4
C 4 3 2 1
D 3 1 2 4
Match the following List I with List II with regards to reservoir. Select correct
answer using the codes given below the list:
List1 List II
a. Human Being 1. Cholera

b. Livestock 2. Ringworm




53.

54.

55.

c. Rodents 3. Plague

d. Dogs and Cat 4. Anthrax
a b c d

A1l 2 3 4

B 3 4 2 1

Cc1 4 3 2

D 2 3 1 4

BHmpisefear QmULILSHms Csmeamih aufleng |- Lear auflmg Il — & QuTBSHIS.
aflenssensad S0 o sfen GeTalledmbha Ffwrer almLamw 0Ffle) CFuis.
auflens | auflens 1l

a. LD6dT FHeur 1. &meoym

b. @TeOBeL Hair 2. auewenul Li(p

C. QampiliLeney 3. UGens

d. mTuI BB e 4. SLEIHTTH6ND
a b C d

Al 2 3 4

B 3 4 2 1

c1 4 3 2

D 2 3 1 4

Energy flow in an eco system is

A. Unidirectional

B. Multidirectional

C. Bidirectional

D. No direction

GHLDHIEN6V LG 60GHSHe0 GleuafliLBd & @@L L LTI
A. @Crgleng Crreal

B. ueogleng Crrsd

C. @npdms BprsHa

D. sewswmm

In the Union budget 2013-14 Rs. 1,000 crores has been allocated for funding
women empowerment and safety. The name of the fund is called

A. Abhaya fund

B. Nirbhaya fund

C. Soubagya fund

D. Sumangali fund

2013-14 wHHW DI auFe] QFevey HewibdHled h. 1,000 Czmg M GCuemTaeiT
SIHBTIOWILOTHHED WLBBID LUTHSTIIBEG @HISSILLBeTeNs DibHd BHuler Guuwir
A suwr B

B. pituwr Hg)

C. Qgemursdwm B

D. somised B

Privatisation is supported for the following reasons, point out which of the
following statements is/statements are correct.

l. To improve efficiency

. To reduce government interference

I1l.  To increase freedom and speed of decision making




IV.  To disown the responsibility of the government
V. To promote private sector culture by introducing competition
A. I, Il and V are correct
B. I, II, IIT and V are correct
C. L1III, IV and V are correct
D. I, IIl and IV are correct
SONWMTOWIOTSESHD GBHSH SDHWIL FmBBIHerie0 gFiflwmereneal senel?
l. FHmeviouiener oiFH @ fobs.
1. SITF&T HMELUIL 196N  (&HmMBD
1. GSHHATOTHAD, IDIHHID (WYe] eIBLLSHeer OiFH s fHs
V. OIF ST QUTBIILSEMET MEH H(P6
Gumiguiener SIBPSLLGSHS, SHTWTT HEMBESTW  LIGWIL|HM6T 6U6TTEHES.
I, Il wvBpd V sflwrerene
I, 1L 1 oppd Vo sflwunerene
I, HI, 1V wBpid V' sflwretenel
I, Hl wppid 1V sgflwrereneu

OOwp<

56. Consider the following pairs:
l. X rays - Rutherford
. Atomic Nucleous - Roentgen
. Artificial radioactivity - Curie and Juliot
Which of the pair given above is/are correct?
A. Tonly
B. Il and III only
C. Iand Il only
D. III only
Leeu(HD B emenIdBemeN &H(hHHe0 OBTeTsH
l. X sgliser - dmsTOUTTH
1. DIEWIHH([H — [T gQ60t
1. Cewmpens sFHflwssd - Suyfl wBpid Cegralluwi’
CuBePIiil L Qmenisaied egi/aemer &M?
A. | @b
B. Il wmpud NI w G
C. | wspd Il w’Gwb
D. Il @b

57. Which of the following vitamins are water-soluble?

A. Thiamine, Riboflavin, Vitamin -D and Vitamin - E

B. Niacin, Vitamin - By, Vitamin - K and Vitamin - D

C. Thiamine, Riboflavin, Niacin and Vitamin - B12

D. Vitamin - Cy, Vitamin - E, Vitamin - K, Folic Acid

SHHEWIL  QFHTLTH6Med QBTHHBLILL (B6iTen, el L L0eTHefen, 6hdh OHTLT Hewmremnfieo
HOTWSH  Fnlgicnel?
amgwidledt, epyBumiienmaler, eweul Liflesr - D opmid eweul L ifler - E
ampWTdler, el el — Bio, emeul Lides- (p o@mid eweul Lidlesr - D
amgwider, e»yGumientaler, enpbuITdler BB eneul L 106sT-Bi,
amaul Loadl-C,, ewaul Liflesr - E, eweul Liflesr - K, wmmid .".Curelsd Siblevld

COowm> !

58. World Meteorological Organisation head quarters is located at




59.

60.

61.

62.

Geneva

Taiwan

Pentagon

. Manila

2 dlal HLUGAIL MDWGHHE HEmeLeMIOWIHLD 2 6iTerm @ LD
A. Gxafleur

B. evgeumes

C. Guest L6

D. wemfleor

o0 w»

Find the missed figure in the sequence
auflewguled o sifen al(BULL eueDILL H0HDH Hewi(BLIgSHH6LD:

PHB - @
SUE X | i

(4) (5)

TN

N

el il

=L
o
/

\\ll
|
N1
"\\
)
/
L./
A
)
,.-’Jl
[, o
)
/
\'ML_._./

e — e =

Arrange in chronological order:

l. Bhairon Singh Shekkawat

I K.R. Narayanan

1.  Mohammed Hamid Ansari

IV.  Krishna Kant

A III, IV, Tand 11 B.II, IV, I and III
C.IILIIand IV D.IV, 1], IlTand I
&Tev auflewalig 61(HIP.

l. mLGyTer M Cagsmeug

1. K.R. mrymuwiesntest

1. (Wa0g anslls Sieram

IV.  &meagent smbs

A.1IL IV, I and II B.1II, IV, I and III
C.IIII, Il and IV D.IV, 11, Il and I
The world forestry day is observed on

A. 8th March B. 15th March

C. 21st March D. 22nd March

® 60& 6UGT [HT6T SIEIFTSHBLILIGIS

A. wrrF - 8 B. wmtg - 15

C. g - 21 D. g - 22

Ladies Singles final in Wimbledon - 2013 had won by




63.

64.

65.

A. M. Bartoli B. S. Lisicki

C.S. Peng D. K. Nara

2013 60 mHeLOUBB alibilem e WwaafiTdsmear @BedBwT Liflaled Geumnps GumBMBeuT
wiir?

A. M. urGLmeorfl B. S. afervsd

C. S. Quemis D. K. mmgm

The following tables gives the life time of 500 CFL lamps:
Life time(months) 9 10 11 12 13 14 More than 14  Total
Number of Lamps 26 71 82 102 89 77 53 500

A bulb is selected at random. The probability that the life time of the selected
bulb is atmost 11 months is given by

A 22 . 11
500 500
c. I p. 268
500 500

500 fp1 GLe0 allend@Gseien euTbpTeT alleugd HG SHILILIL (BeiTerTer:
aumppre(orsmsefen) 9 10 11 12 13 14 More than 14  Total
alendbGHenen erewienidbams 26 71 82 102 89 77 53 500

CHMHOHBEHSLILL L @h GL60 allendbdlar UTPHTEN DISHSLLFD 11 OTSHHISHEHDHE
WSMoeL BHLLISBSTE [HBLDSHH6]

A 22 Y
500 500
c I D, 268
500 500
If 7 spiders make 7 webs in 7 days, then 1 spider will make 1 web in how many
days?
A.1 B.7/2
C.7 D. 49

7 HevpdHse, 7 gmbdemen 7 BT &eMed GFUIHTeL 1 Hevbd 1 Snllgenent 61855H6M60n
BT &6Med GFuiub?

Al B.7/2

C.7 D. 49

Malini deposited Rs. 7,000/ - with a finance company for 3 years at an interest of
15% per annum. What is the compound interest and the amount that Malini will
get after 3 years?

A. Compound interest - Rs. 3,246, amount - Rs. 13,246

B. Compound interest - Rs. 3,646, amount - Rs. 10,646

C. Compound interest - Rs. 6,436, amount - Rs. 16,046

D. Compound interest - Rs. 4,636, amount - Rs. 14,636




66.

67.

68.

69.

QM HFH MLUISH6V, Lomedel SLETIYDE 15% et eigHHe0, 3 SLEWIBHBHEHHES
¢.7,000 @g,aﬁ@ QauIsTT. gl (h eully (pedmuled, 3 WIBGHEHHSGL LIBG LTede
QuE@Ib ' 1Ysh OHTMHUID OLTHHSH CHMBUID WTeneu?

A. &LBaully - b 3,246, OFTenad - . 13, 246
B. el Geaullp - ep. 3,646, Oxtens - ep. 10,646
C. sl Baully - . 6,436, Gzmens - . 16,046
D. sl Geou’ly - ep. 4,636, Oxtens - ep. 14,636
The average salary of all workers in the factory Rs. 60. The average salary of 12

officers is Rs. 400. The average salary of rest is Rs. 56. Find the total no of workers
in the factory

A. 1116

B. 1032

C. 1212

D. 1132

Q@ OFTPBsTmeUlsd o 6ilern GFTevTeniTaeer Fyram emgHluwib p. 60. IO
siFlaeriser 12 Cuilear ggmef saguid p. 400. W weiten OFmiflevTeniaefer gymar
oaglud ¢h. 56 elenled OHTHBaTemevuled o 6iten GloTshe OFHmievmeniaereir
6T6NI600N &6 BT 60T

A. 1116

B. 1032

C. 1212

D. 1132

Who said that, “Prime Minister is the captain of the ship of the State?”
A. Munro

B. Ramsay Muir

C. Jennings

D. H.J. Laski

“Ursw simwssT s aaidams slueder GslLear e dmpluweuT wmi?
A. ey

B. gmo@s (it

C. Omeraimierd

D. H.J. eumerod

By which of the following articles, the procedure for the amendment of the
Indian Constitution is given?

A. Article 230

B. Article 320

C. Article 358

D. Article 368

&8 OaThHSHELIUL(BHeiTem @hHU DFdlwievenioll] 2 mIEHeaie0 6bhsp 2 miriied
SIFFlwevenioliLiy FHHSHHWpenm GMILIL L L 6iTerng)?

2 _miy 230

2 miny 320

2 miny 358

2 miny 368

COow>

Who was the speaker of Eleventh Lok Sabha?




70.

71.

72.

Bal Ram Jakhar

Shivraj Patil

P.A. Sangma

. Somnath Chatterjee

USHCeITBTEUSHI LDHHTENeUUN6DT FUTBTUIST WITT?
A. UeOITD QTEHBT

B. fepmey uBLeD

C. U.g. gmuor

D. Ggmbprs gm Ll

cowp

Who appoints the Advocate General for the State?

A. President

B. Prime Minister

C. Governor

D. Chief Justice of Supreme Court

LoMBlevHHeT DI auGH. Oxeiyensy BIUILDewID GFuILeUT wmiT?
A. BursE HemnevelT

B. Jrsw oemwsst

C. ayempi

D. o 55 pFHoaBsiear Hmeosnd HAHLS

Match List I with List IT and select the correct answer using the codes given
below:
List I List I
a. Beek 1. Lahore Congress
b. Archibold 2. Mohammedans Defence Association
c. Rahmat Ali 3. Principal, Aligarh College
d. Pakishtan Resoultion 4. Coining the word Pakistan
a b c d
A2 3 4 1
B 3 1 2 4
c1 4 3 2
D 4 1 2 3
aflemg | - B0 o siteneupens auflewa Il o et QuIBSHHS FC CamBoHaLILL (BeiTern
TG mbEe 2 sl almLmws Ml GFuis
auflens | auflemns |l
a. Gus 1. eUMT&mT LOMET(H

b. eyrgumedl 2. (WHHWT SHBBMIF FhIbLD
C. QyswsH 916 3. (WH6LAUT, HIEIBTT B0V
d. urdevmmes giomentd 4. UTHeOGHTE 61eB CFTELEOTHHLD

a b C d
A 2 3 4 1
B 3 1 2 4
Cc1 4 3 2
D 4 1 2 3
Who was the Prime Minister when for the first time No-Confidence motion was

moved in the Indian Parliament?




A. Jawaharlal Nehru

B. Indira Gandhi

C. Morarji Desai

D. Lal Bahadur Shastri

BLOLSHmBUTGO60T SHTIOTEID (H6 (PHevTsds @b HILTEHOSIBHH60 CldTerni(h
UbSHOUTWRE LTS DIwWFFITE EhbHSHeuT wimt?

MausTeuTe0 Gh(H

BBAIT BTHS)

Qomymiredl Gxhamul

GUTEOLISSHIT  Fmerogifl

COow>

. The Chief offensive Weapon of the Vedic period

A. Sword

B. Axes

C. Spear

D. Bow and Arrow

Goum &TeLHFHL LWATLHSHSUILLL (PHHW HTHGHWD QHU|HLD
GUTGIT

Gl

FLIQ

aled LBBID DLDL

COw>

. Match the following states with their size of population (2011).

a. Manipur 1.29,64,007
b. Meghalaya 2.19,80,602
c. Mizoram 3.27,21,756
d. Nagaland 4.10,91,014
a b C d
A 2 4 1 3
B 1 2 3 4
C 4 3 2 1
D 2 1 4 3
LNedTeu(BHLD  LOMHl6VmISEN6T L&H6TOHmMBBWTG @UiilGs (2011)
a. LDeuonlLIL,T 1. 29,64,007
b. Gusmeowr 2. 19,80,602
C. WIGFmyID 3. 27,21,756
d. mrsTeLTHE 4. 10,91,014
a b C d
A 2 4 1 3
B 1 2 3 4
C 4 3 2 1
D 2 1 4 3
. Match the following;:
a. Polydactyly 1.Y linked trait
b. Color blindness 2. autosomal recessive trait

c. PKU 3. Sex linked recessive trait
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77.

78.

79.

d. Hairy Pinna 4. autosomal dominant trait
a b c d

A 4 3 2 1

B 1 2 3 4

C 2 3 4 1

D 3 1 2 4

OUIT(hSSIH:

a. umellLméemL 6Vl 1. “Y” gniphg @ ewild
b. Pmé &L (BHSHH6TemD 2. o1 GLrBamoed @(BHMIGE 6mID
C. UGsw 3. umeL Lemenidhd 6BmIEE eI
d. arged (p1g aeNTeUG 4. o CLrBamDed @mIE (G 6MID
a b c d
A 4 3 2 1
B 1 2 3 4
Cc 2 3 4 1
D 3 1 2 4
As per the census 2011, India’s Population was 1.21 billion, which is
percent of the world’s population
A.18.5% B.17.5% C.16.5% D. 15.5%
2011 w&HLCFHTmd HewidosBLIGILY AbSHumaler woHser 1.21 Llsvedlweam@l. &g
® & WHHLCFHTendHUllem FFHSHLOTGLD.
A.18.5% B.17.5% C.16.5% D. 15.5%
According to 2013-14 budget of India, what is the percentage of current revenue
expenditure meant for payment of interest?
A. 16 percent B. 26 percent
C. 28 percent D. 32 percent

@hgHwraler 2013-14 auge-0Fevey HLSHHley, edHHamer all(pssThH BHLLIL eUHeuTUl
CFevalled U QUITEF OFVISBHILIGSMBHI?

A. 16 alwssTh B. 26 alpsat®
C. 28 alpsst® D. 32 alwssnih
Which district in Tamil Nadu secures first rank in percapita Income in 2009-10?

A. Chennai

B. Tiruvallore

C. Coimbatore

D. Kanniyakumari

SOPBTL 1960 2009-1060 SHeNBLIT UBHLOTOISHH0 (PHEILSHFH60 LB oTeUl LD 61817
A. GFeitenen

B. Smeueitemi

C. Gamuwipshat

D. seefwmgLofl

Match the list of radio isotopes with its uses given below and choose the correct
answer using the below given codes:
a. Cobalt 60 1. Fertilizer

b. Ag™ 2. To photograph brain tumour
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c. Hg"’ 3. Blood cancer

d. P*# 4. Sterilisation
a b C d

A 2 4 1 3

B 4 3 2 1

Cc1 2 3 4

D1 3 2 4

&8 Oamhasliu’Beten CroGuim mGsmGLTlILy®6T UL IguIemnsy OiHeaT LwlersCeT®
CQuTpHHIH. aflwmer alemLedw S6p GarThaslLL (Betem GPuiGsamen OCsTeawih OHfley
Qaul.

A. Gamumedl 60 1. 2 gib
b. Ag™ 2. cpenen Bl igenul &LID L9shs
c. Hg™ 3. 855 UbBIGHIL
d. P* 4. plewio Ao QLo
a b C d
A 2 4 1 3
B 4 3 2 1
C 1 2 3 4
D 1 3 2 4
The DSC prize for South Asian Literature was given to

A. Songs of Blood and Sword

B. Chronicles of Corpse Bearer

C. Nine Lives

D. You can sell

CppaTd Qevsddluwl QxhTLiurmer DSC uflews GUBB HT6aIeD.
A. eommied ot e et eroeumiTL

B. dymeidseverd ot &miliuerd Guiyim

C. ovperr 6d6ilerd

D. y G=zear GFed

INDRA- is the joint Naval exercise between the following countries.

A. India and America

B. India and Japan

C. India and Russia

D. India and Australia

“INDRA” -£@p sewiL BTBsEhdSHem Guiuwimer g B sLpuml LulBdleow @Gpleb@d
A. @bHwun woBpid SI6WNSET

B. @badwm oBm elimes

C. @bFHwr BB Fasuwm

D. @bdwr oBpid oer0dGredwim

Which among the following has the world’s largest reserved of Uranium?
A. USA B. Canada  C. Russian Federation D. Australia

SHWILuBMled 61H%H HTLIge0 2 0GB SiFw e wByeiwbd o etengy?
A. USA B. @en C. 7e9w gnl L eniollL] D. 9ue0gGreduim
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84.

85.

86.

87.

88.

89.

Telecommunication Consultant India Ltd. Was set up in the year

A. 1975 B. 1976 C.1977 D. 1978
@hHWS FTemevd OFHTLTL CFemeu HmIGUeRID 61HEH WG GBLBHBHUILL L GHI?
A.1975 B. 1976 C.1977 D. 1978

The world’s first intelligent ‘Knife” developed can detect

A. Genetic disorders B. Congenital diseases

C. Cancer D. None of the above

o oudlell (pHeL ‘Hlewtemieyd HHFH EIILFH GTenHH HEWILBIUIS Fnlguig?
A. ojys GHOBUTHSHEIT B. Umals @GemmuT®sei

C. uBmIGmTul D. GuBsewi 6aIls0em6e0

The speed of the world’s fastest super computer is

A. 33.38 petaflops B. 33.87 petaflops

C. 33.86 petaflops D. 33.83 petaflops

o odlal 9IHCus G’ L sHewienuler Geusd

A. 3388 L. .Lienmlierd B. 33.87 WlLm. .lemmlierd
C. 33.86 i Lm. .Lienmlierd D. 33.83 1 L. .Ciemmliend

The satellite which was placed in orbit by PSLV-C22 on 2d July 2013 is
A.IRNSS - 1A B. IRNSS - 1B

C.IRNSS - 1S D. IRNSS - 2A

PSLV-C 22-g160 a@mioul’ L umenguled 2 2°ene 2013 et GFeudhsLiiil L
CFwBenasHCamel

A.IRNSS - 1A B. IRNSS - 1B

C.IRNSS - 1S D. IRNSS - 2A

Find the missing number in the diagram.
eiteubd LILSHHed alBuLL elemt 6157

4 5 10 3 | 12 B
20 | 9 : 80 | 18 [Lg | 20
A.25 B. 30 C.96 D. none of these
A 25 B. 30 C. 96 D. 8aumbnled ergia|ilsensv

The sum of three prime number is 101. The difference of two of them is 24. What
are the numbers?

A.5,59, 37 B.41,53,7 C.11,37,53 D. 3, 61,37
PSIMI UST eTewidbeilal FnBhHev 101. SeuBpsled @T6ewi(B 6T60IHEHEEH 6wl UL L
AlHHWTFD 24 elaled DIeUGCIEUCTTHET WITen6u?

A.5,59, 37 B. 41, 53,7 C.11,37,53 D. 3,61, 37

A started from a place. After walking for a kilometre, in a direction, he turn to
the left, then walking for a half kilometre, he again turns to the left. Now he is
going eastwards. In what direction did he originally started?

A. West B. East C. North D. South

A aaiuaT @fiLsdHelmba @b SHogmw Gprohd ¢ HGeom WL LT BLbBS LIBG
@ALlussd FHmold Y2 HGom WBLT IBE e SLliussd Hmb BLibs
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CFeodmprT. sBCUTEH SleuT HipdsE Hmg CBToHd BLbHH CFAIBTED, BT &EHHH 60
ST 6hd Hewgemw CrmoHs G TLmidlerT?

A. Guma B. dwse C. ad@ D. Qsb@

The sides of a triangle are in the ratio % :% :% and its perimeter is 104 cm. The length
of the longest side is

A.52cm B. 48cm

C.32cm D. 26cm

QM (LPpSHCaHTemT 60t u$&r§1&m%:%:i a6 alSlHHe0 2 6iTeNerl. HLFHET FHBBENTe]

104CM. OIH6T HEMOTE LSHBHHI T DI6N6)] 61631607

A.52cm B. 48cm
C.32cm D. 26cm
If A’s salary is 20% less than B’s salary, by how much percent is B’s salary more

than A’s?

A.24% B. 25% C.20% D. 22%

A —a1 supomend B-ulesr eugpomeibms ol 20% @emmaits o eteng) elaflsy B-uflest
eublomerd A-ufellr eubLTaTHms il eelalene FHaIHD SHIHBLOTE 2 6iengl?

A.24% B. 25% C.20% D. 22%

The volume of a cube is 125 cm®. The surface area of the cube is

A. 625cm’ B. 125cm® C. 150cm? D. 100cm?

QH BO FHTSHH B eNe] 12556 OF .15 616fled DIGH6T LBLILITLIET] 6T616aI6T6)]|?
A. 625 5.605.186 B. 125 5.68.6 C. 150 5.67.8 D. 100 #.05.85

If 50% of (x-y) = 30% of (x+y) then what percent of x is y?

A. 25% B. 50% C. 75% D. 100%

(X-y) &1 50% = (x+y) a1 30%e1adlled X-60 Y-651 FHeiHLD elesrent?

A. 25% B. 50% C. 75% D. 100%

If 18% of the total number of oranges in a basket is 36. Then the total number of
oranges is

A. 100 B. 150 C. 200 D. 300

QR memLUled 2 eiTenl OQTHS DJeha UHIBeTed 18% suengh 36 erailed
QLOTSH S (LP6ITeN LT Eha LILDMIGH6NT 6T 6T60T601 60
A. 100 B. 150 C. 200 D. 300

The ratio of the prices of two cows was 23:16 Two years later the price of the first
cow rises by Rs. 477 and that of the second by 10% and the ratio of their prices
became 20:11. Find the original prices.

A. Rs. 1,219 Rs. 848

B. Rs. 1,218 Rs. 848

C. Rs. 1,210 Rs. 850

D. Rs. 1,219 Rs. 840

@rewi(h ThHeMer allewer aldlporeaid 23:16 Breni(h eTBHEhEHSG LIBE (WHe
g6 aleney ehUTUI 477 —5 o WMhsHSH OBEBID BFewiTeugl W ger allensv 10%
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99.

o wMhas. SBCUTH alemevule alldlswmeig 20:11 G, 2 6w allenevemuls
SBITGIINE.

apumut. 1,219 emumui. 848
apumut. 1,218 epumus 848
emumut. 1,210 emurmui. 850
epumut. 1,219 emumui. 840

Cow>

A ladder of 25ft length a window which is 24ft above the ground level on one
side of the street. Keeping its foot at the same point the lader is turned the other
side of the street and now reches a window of 7ft high. Then the width of the
street.

A.30 B. 32

C.29 D.31

@ Oxmaled BBISSILL(BeTen 25 Siig Hen(pelien egeani SHaJLLSHedHheH 24 g
©_WIP(LPGITEN FeRIanenevd OHTHH MBS Digenl LOTBBILOED SieileJemilen] SHLpHMm
SIH0FHmHaleT WBILSSHHIH 6N Feitertened 7 Sy 2 WFHHe0 OHTHHMBSI 6TevileL
SIHOHHaleT 9IFH6VLD

A.30 B. 32
C.29 D. 31
Which among the following Commitees was responsible for the incorporation of

fundamental duties in the constitution?
A. Wanchoo Committee

B. Sachar Committee

C. Swaran Singh Committee

D. Bhagawati Committee

&C CBTHHBLILL (BTN G (1DHH6MD 6% DlQLILIenL & HLMDHN6NT BHH W
SITFmLILT60 Qenemibs HTTEOIOTES B(HbHHH!?

UMTEhs &0

FrenT G

eroeuTeT Fml (G

USFH  G(1D

COw>

Arrange the following in descending order

l. Teshil

. Sub - division

1. Village

IV.  Pargana

A.2,1,43 B.3,4,2,1 C.2,1,3,4 D.1,2,4,3
Lettau(heussiouBens @mmiF eauflenguiled (WwemLLbGHSHIS

l. srdfled Il. giememrii-Lfey 1. #ymowb V. ursmet
A.2,1,4,3 B.3,4,2,1 C.2,1,3,4 D.1,2,4,3

Which one of the following is not related to NGO’s?
A. Civil Society Organisations

B. Citizen Associations

C. Non-State actors

D. Public Corporations
LeSTeu(hHeuaTeUBmIeT 6hd 6ein3l 6T6i.03.60. B EHL 6T QHTLTLEWL WG Sieotsl?




100.

GYMIF Fepd  [HIBI6UTRISET
GIQLDSHH6IT  FMISBHIGH6IT
SITG-FTIT  OFWEOLITL LTENT&H6N
QuUIgIs HIPHHIGH6N

COow>

In India Constitution the directive principes of state policy were incorporated
in Articles from

A. Art. 40 to Art.51

B. Art. 36 to Art. 51

C. Art. 39to Art. 51

D. Art. 25 to Art. 51

ObhHw spFmwler, Sl Caraimsamul afl CFaishsid GCHEMI(LpeBHm6T

QUCEE LG

A 2. 40 waed 2 . 51 suemy
B. 2. 36 wpmev 2 . 51 eueny
C. 2. 39 ipged 2 . 51 euemny
D. 2. 25 wpaed 2 . 51 eueny




